C:h Finding Angle between Two Points

Name:
Calculatethe angle of thecirclerelative to (0,0). Answers
4 First find the Slope. A N\
@5 (YY) +(Xo-X) =m - 1.
' (5-0)+(4-0) =1.25 ®
VAl
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Then find the arc tangent (aka. inverse / E
tangent) of the slope. J/ i
\L » arctan(1.25) = 51.34° 2 - >/| 3
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ﬂh Finding Angle between Two Points Name. Answer Key

Calculatethe angle of thecirclerelative to (0,0). Answers
4% First find the slope. A N\
(YY) +(Xo-X) =m 1. 23.96
@ (50+(4-0)=1.25 P
, | e » 743
Then find the arc tangent (aka. inverse S
tangent) of the slope. J/ |
\L » arctan(1.25) = 51.34° ‘ ' >3 63.43
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Finding Angle between Two Points Name:
Calculatethe angle of thecirclerelative to (0,0). Answers
4 First find the Slope. A N\
@5 (VoY) =(XomXy) = m - 1.
(5-0)+(4-0) = 1.25 ®
i
’ 2.
Then find the arc tangent (aka. inverse / E
tangent) of the slope. J/ |
\L » arctan(1.25) = 51.34° ‘ ! /e
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Finding Angle between Two Points Name. Answer Key
Calculatethe angle of thecirclerelative to (0,0). Answers
4% First find the slope. A N\
(VYD) +=(X-X) =m 1. 81.87
9 (5-0)+(4-0) = 1.25 &
. | Y 2 2320
Then find the arc tangent (aka. inverse S
tangent) of the slope. J/ |
\L » arctan(1.25) = 51.34° 4 : >3 75.96
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C:h Finding Angle between Two Points Name:

Calculatethe angle of thecirclerelative to (0,0). Answers
4 First find the Slope. A N\
@5 (Y2'Y1)T(X2'X1) =m - 1.
(5-0)+(4-0)=1.25 ®
e
/ 2,
Then find the arc tangent (aka. inverse / E
tangent) of the slope. J/ .
\L » arctan(1.25) = 51.34° 4 ! >/| 3
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Finding Angle between Two Points Name. Answer Key
Calculatethe angle of thecirclerelative to (0,0). Answers
4% First find the slope. A N\
@5 (YY) +(Xo-X) =m - 1. 45.00
’ (5-0)+(4-0) = 1.25 o ’
A 21.80
Then find the arc tangent (aka. inverse S 2
tangent) of the slope. J/ |
\L » arctan(1.25) = 51.34° 4 : >3 56.31
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Finding Angle between Two Points Name:
Calculatethe angle of thecirclerelative to (0,0). Answers
4 First find the Slope. A N\
@5 (Y2'Y1)T(X2'X1) =m - 1.
(5-0)+(4-0) = 1.25 ®
i
’ 2.
Then find the arc tangent (aka. inverse / E
tangent) of the slope. J/ E
\L » arctan(1.25) = 51.34° ‘ ! /e
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Finding Angle between Two Points Name. Answer Key
Calculatethe angle of thecirclerelative to (0,0). Answers
4% First find the slope. A N\
@5 (Y2'¥1)T(X2'X1) =m - 1. 18.43
(5-0)+(4-0) = 1.25 ®
30.96
Then find the arc tangent (aka. inverse S 2
tangent) of the slope. J/ |
\L » arctan(1.25) = 51.34° 4 : >3 9.46
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C:h Finding Angle between Two Points Name:

Calculatethe angle of thecirclerelative to (0,0). Answers
4 First find the Slope. A N\
@5 (Y2'Y1)T(X2'X1) =m - 1.
(5-0)+(4-0)=1.25 ®
e
/ 2,
Then find the arc tangent (aka. inverse / E
tangent) of the slope. J/ :
\L » arctan(1.25) = 51.34° ‘ ! /e
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Finding Angle between Two Points Name. Answer Key
Calculatethe angle of thecirclerelative to (0,0). Answers
/A First find the slope. \ N\
(VYD) +=(X-X) =m 1. 69.44
& (5-0)+(4-0) = 1.25 o e
A 74.05
Then find the arc tangent (aka. inverse S &
tangent) of the slope. J/ |
- » arctan(1.25) = 51.34° l >J|| s 3687
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C:h Finding Angle between Two Points Name:

Calculatethe angle of thecirclerelative to (0,0). Answers
4 First find the Slope. A N\
@5 (VoY) =(XomXy) = m - 1.
(5-0)+(4-0) = 1.25 ®
VAl
,I | 2
Then find the arc tangent (aka. inverse / E
tangent) of the slope. J/ |
\L » arctan(1.25) = 51.34° 2 ! >/| 3
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Finding Angle between Two Points Name. Answer Key
Calculatethe angle of thecirclerelative to (0,0). Answers
4% First find the slope. A N\
(YY) +(Xo-X) =m 1 36.87
9 (5-0)+(4-0) = 1.25 &
. | 4 » 2657
Then find the arc tangent (aka. inverse S
tangent) of the slope. J/ |
\L » arctan(1.25) = 51.34° : >3 60.26
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C:h Finding Angle between Two Points Name:

Calculatethe angle of thecirclerelative to (0,0). Answers
4 First find the Slope. A N\
@5 (VoY) =(XomXy) = m - 1,
(5-0)+(4-0) = 1.25 Jo
,I | 2
Then find the arc tangent (aka. inverse / E
tangent) of the slope. J/ |
\L » arctan(1.25) = 51.34° 2 ! >/| 3
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Finding Angle between Two Points Name. Answer Key
Calculatethe angle of thecirclerelative to (0,0). Answers
4% First find the slope. A N\
(YY) +(Xo-X) =m 1. 45.00
9 50r@0=12 o "
A 20.56
Then find the arc tangent (aka. inverse S 2
tangent) of the slope. J/ |
\L » arctan(1.25) = 51.34° ‘ ' >3 60.95
1) 2 4 3 4 (5,9) 4 49.40
2
. 5. 5631
8,3 Ao
22 o .
e | ; I s  36.87
L > P N > >
7. 56.31
A A
K . X ? o 2657
e 23 4.3) 0. 30.96
S 4 2
A B /1 . s . 0. 48.37
11, 71.57
7 6,9 8 4 9 4
[ ©9 2 69.44
/ i (5,3)
S (2.) o
i > = > Al >
10) 89 11) A 12) 4
o9 9
A (26) @
// : ,Gn) ,’I :
. e L > L >
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 7 11-12( 8| 0




JL_

Finding Angle between Two Points Name:
Calculatethe angle of thecirclerelative to (0,0). Answers
74 First find the slope. I
@5 (Y2'Y1)T(X2'X1) =m - 1.
(5-0)+(4-0) =1.25 ®
e
’ 2,
Then find the arc tangent (aka. inverse / E
tangent) of the slope. J/ |
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Finding Angle between Two Points Name. Answer Key
Calculatethe angle of thecirclerelative to (0,0). Answers
/A First find the slope. \ N\
(VYD) +=(X-X) =m 1 71.57
@ (50+(4-0)=1.25 P
e 54.46
Then find the arc tangent (aka. inverse S &
tangent) of the slope. J/ |
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Finding Angle between Two Points Name:
Calculatethe angle of thecirclerelative to (0,0). Answers
4 First find the Slope. A N\
@5 (YY) +(Xo-X) =m - 1.
(5-0)+(4-0) =1.25 ®
e
’ 2,
Then find the arc tangent (aka. inverse / E
tangent) of the slope. J/ |
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Finding Angle between Two Points Name. Answer Key
Calculatethe angle of thecirclerelative to (0,0). Answers
4% First find the slope. A N\
(YY) +(Xo-X) =m 1 33.69
“9 (5-0)+(4-0) = 1.25 &2
. . /’ : 2. 6944
Then find the arc tangent (aka. inverse S
tangent) of the slope. J/ |
\L » arctan(1.25) = 51.34° 4 : > /|2 45.00
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C:h Finding Angle between Two Points Name:

Calculatethe angle of thecirclerelative to (0,0). Answers
4 First find the Slope. A N\
@5 (YY) +(Xo-X) =m - 1.
(5-0)+(4-0) =1.25 ®
e
’ 2,
Then find the arc tangent (aka. inverse / E
tangent) of the slope. J/ i
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Finding Angle between Two Points Name. Answer Key
Calculatethe angle of thecirclerelative to (0,0). Answers
4% First find the slope. A N\
(YY) +(Xo-X) =m 1 63.43
9 (5-0)+(4-0) = 1.25 &2
e 80.54
Then find the arc tangent (aka. inverse S 2
tangent) of the slope. J/ |
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